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O–6231 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

CHEMISTRY 

Paper First 

¼HkkSfrd jlk;u½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

2
2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 

 [ 2 ] O–6231 

 

[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 
fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  
10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 
,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  
17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 
type questions. Attempt all questions. Each 
question carries 01 mark. Answer each of 
these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 
type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 
page. 

Section–C : Question Nos. 15 to 18 are short answer type 
questions. Attempt any three questions. Each 
question carries 05 marks. Answer each of 
these questions in about 150 words or one 
page.    

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 
(Section—A) 

1- d`f”.kdk fofdj.k dh vf/kdre mRltZu {kerk rFkk ije 
rki ds e/; laca/k fyf[k,A 
Write relation between maximum emission capacity of 
black body and absolute temperature. 

2- gsfeYVksfu;u ladkjd fdlls lacaf/kr gS \ 
Hamiltonian operator is related with which ? 

3- CH4 v.kq esa ladj.k ,oa vkca/k dks.k D;k gS \ 
What is the hybridisation and bond angle in CH4 
molecule ? 

4- lery f=Hkqth; vkd`fr ds v.kq esa dkSu&lk ladj.k gks 
ldrk gS \ 
Which hybridisation may be in the molecule having 
planar trigonal shape ? 

5- ijkcSaxuh fofdj.k dk rjaxnS?;Z ijkl (Å) esa fyf[k,A 
Write the wavelength range of ultraviolet rays in Å. 

6- C = O  lewg esa fdl izdkj ds bysDVªkWfud laØe.k ik;s 
tkrs gSa \  

What electronic transitions are found in C = O   

group ? 
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7- f}/kzqo vk?kw.kZ dks n’kkZus okyk lw= fyf[k,A 

Write the formula which represents dipole moment. 

8- uULVZ Å”ek izes; xSlksa ds fy, D;ksa ykxw ugha gksrh gS \ 

Why Nernst heat theorm is not allowed for gases ? 

[k.M&c 

(Section—B) 

9- d`”.k fi.M fofdj.kksa ij rki dk izHkko le>kb,A 

Explain heating effect on black body radiations. 

10- , *, , *     d{kdksa dh ÅtkZ dk Øe D;k gS \ 

What is the order of energy of , *, , *     orbitals ? 

11- jklk;fud lanhfIr dks le>kb,A 

Explain chemiluminescence. 

12- vuqpqEcdh; ,oa izfrpqEcdh; inkFkks± esa vUrj Li”V dhft,A 

Clarify the distinction between paramagretism and 

diamagnetism. 

13- jkWfdax ,oa lhtfjax dEiu dks le>kb,A 

Explain rocking and scissoring vibrations. 

14- Å”ekxfrdh ds r̀rh; fu;e ls lacaf/kr yhuhl rFkk jksMyk 

dk er D;k gS \ 

What i the Leinis and Ranydall’s statement for third 

law of thermodynamics ? 
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[k.M&l 

(Section—C) 

15- vkbxsu Qyu rFkk vkbxsu eku ls D;k rkRi;Z gS \ 

What is meant by eigen function and eigen values ? 

16- sp2 ladj.k dks mnkgj.k lfgr le>kb,A 

Explain sp2 hybridiation with example. 

17- xzksFkl&MªkWij dk fu;e fyf[k,A bldh D;k lhek,¡ gSa \ 

Write Grothus-Drapper’s law. What are its limitations ? 

18- ykSgpqEcdRo ij fVIi.kh fyf[k,A 

Write a note on ferromagnetism. 

[k.M&n 
(Section—D) 

19- Dok.Ve ;kaf=dh ds vfHkx`ghrksa dk o.kZu dhft,A 

Describe postulates of quantum mechanics.  

20- V. B. ekWMy rFkk M. O. ekWMy dh rqyuk dhft,A 

Compare V. B. model with M. O. model. 

21- tsCykWULdh vkjs[k dk o.kZu dhft,A 

Describe Jablonski diagram. 

22- vkf.od lajpuk ds fu/kkZj.k esa f}/kzqo vk?kw.kZ dk egRo 
fyf[k,A 

Write the importance of dipole moment to determine 
the moleculare structure. 
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[k.M&b 

(Section—E) 

23- fuEukafdr dks le>kb, % 

(i) f}/kzqo vk?kw.kZ fu/kkZj.k dh viorZuh fof/k 

(ii) Å”ekxfrdh ds r̀rh; fu;e ds vuqiz;ksx 
Explain the following : 

(i) Refractivity method of determination of dipole 
moment 

(ii) Applications of third law of thermodynamics 

24- fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

(i) jeu LisDVªe rFkk blds vuqiz;ksx 

(ii) Mh&czksXyh ladYiuk ,oa Mh&czksXyh lehdj.k dk 
izk;ksfxd lR;kiu 

Write notes on the following : 

(i) Raman spectrum and its applications 

(ii) De-Broglie’s hypothesis and experimental 
verification of De-Broglie’s equation 
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O–6232 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

CHEMISTRY 

Paper  Second 

(Inorganic Chemistry) 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

22  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 
fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  
10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 
,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  
17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 
type questions. Attempt all questions. Each 
question carries 01 mark. Answer each of 
these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 
type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 
page. 

Section–C : Question Nos. 15 to 18 are short answer type 
questions. Attempt any three questions. Each 
question carries 05 marks. Answer each of 
these questions in about 150 words or one 
page.    

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 

(Section—A) 

1- VsVªkslk;uksfudysV eas dkSu lk ladj.k ik;k tkrk gS \ 

Which hybridisation is found in tetracyanonickelate ? 

2- lcls vf/kd CFSE okyh dkSu lh T;kfefr gksrh gS \ 

Which geometry has maximum CFSE value ? 

3- pqEcdh; rhozrk ds fy, O;atd nhft,A 

Give derivation for magnetic intensity. 

4- yksgk dkSu lk pqEcdh; xq.k iznf’kZr djrk gS \ 

Which type of magnetic property does iron exhibit ? 

5- vk;ju isaVkdkcksZfuy dh lajpuk D;k gksrh gS \ 

What is the structure of pentacarbonyl iron ? 

6- dkcZ/kkfRod ;kSfxdksa eas dkcZu ,oa /kkrq ds e/; dkSu lk ca/k 
gksrk gS \ 

Which bond is present between carbon and metal in 
organometallic compounds ? 

7- fdUgha nks vuko’;d rRoksa ds uke nhft,A 

Give name of any two non-essential elements. 
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8- +Cu fdl izdkj dk vEy gS \ 

Which type of acid is +Cu  ? 

[k.M&c 
(Section—B) 

9- vkarfjd d{kd tfVy fdls dgrs gSa \ 
Which is called inner orbital complexes ? 

10- Å”ekxfrdh LFkkf;Ro D;k gS \ 
What is thermodynamic stability ? 

11- pqEcdh; ikjxE;rk dks ifjHkkf”kr dhft,A 
Define magnetic permeability. 

12- dkcZ/kkfRod ;kSfxdksa dh D;k fo’ks”krk,¡ gksrh gaS \ 
What are the characteristics of organometallic 
compounds ? 

13- QkWLQkthUl ds mi;ksx fyf[k,A 
Write the uses of phosphagens. 

14- dBksj vEy dks ifjHkkf”kr dhft,A 
Define hard acid. 

[k.M&l 
(Section—C) 

15- la;kstdrk ca/k fl)kUr ds vk/kkj ij 3
3 6[Co(NH ) ]   dk 

cuuk le>kb,A 

Explain formation of 3
3 6[Co(NH ) ]  according to 

valence bond theory. 
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16- izfrpqEcdRo dks le>kb,A 

Explain diamagntism. 

17- flfydkWUl cukus dh lkekU; fof/k;ksas dk o.kZu dhft,A 

Describe general methods for preparation of silicones. 

18- gheksXyksfcu ds dk;ks± dk o.kZu dhft,A 

Describe the functions of haemoglobin. 

[k.M&n 

(Section—D) 

19- fØLVy {ks= fl)kUr dh mi;ksfxrk ,oa lhekvksa dk o.kZu 
dhft,A 

Describe the limitations and applications of crystal 
field theory. 

20- fgLVsfjfll ij fVIi.kh fyf[k,A 

Write a note on Hysteresis. 

21-   ca/k ,oa  ca/k }kjk cus dkcZ/kkfRod ;kSfxd dk o.kZu 
dhft,A 

Describe organometallic compounds formed from   
bond and bond. 

22- Ca ,oa Mg vk;uksa dh mi;ksfxrk ,oa dk;Z dk o.kZu 
dhft,A 

Describe the functions and importance of Ca and Mg 

ions. 
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[k.M&b 

(Section—E) 

23- dkcksZfuy esa 18 bysDVªkWu fu;e dh foospuk dhft, ,oa /kkrq 
dkcksZfuy dh lajpuk le>kb,A 

Discuss 18 electron rule in carbonyls and explain the 
structure of metal carbonyls. 

24- dBksj eǹq vEy&{kkj fl)kUr nsrs gq, bldh mi;ksfxrk ,oa 
lhekvksa dk o.kZu dhft,A 

Describe limitations and application of hard soft acid- 
base theory including its postulates. 
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O–6233 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

CHEMISTRY 

Paper  Third 

(Organic Chemistry) 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    
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Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  

Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 

(Section—A) 

1- lSdjhu dk jklk;fud uke D;k gS \ 

What is chemical name of Saccharin ? 

2- ;kSfxd CH3COCH2COOC2H5 dk IUPAC uke fyf[k,A 

Write the IUPAC name of compound 
CH3COCH2COOC2H5 . 

3- D(+) ysDVkst+ ds vEy dh mifLFkfr esa tyvi?kVu ls 
dkSu&dkSu ls ;kSfxd izkIr gksrs gSa \ 

On acid hydrolysis of D(+) Lactose which compounds 
are obtained ? 

4- izksVhUl dks fuugkbMªhu ds ruq foy;u ds lkFk mckyus ij 
dkSu&lk jax mRié gksrk gS \ 

Boiling of proteins with dilute solution of Ninhydrin 
produce which color ? 
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5- ,iksDlh jsftu dk izeq[k mi;ksx D;k gS \ 

What is main use of Apoxy Resin ? 

6- dkaxks jsM fdl izdkj dk jatd gS \ 

Which type of dye congo red is ? 

7- ǹ’; ,oa ijkcSaxuh {ks= ds fofdj.k dh var%fØ;k ls *  

bysDVkWfud laØe.k fdl izdkj ds v.kqvksa esa ik;k tkrk  

gS \ 

Due to interaction of ultraviolet and visible radiation 

* transition found in which type of molecules ? 

8- CH3OCH2CH3 ds PMR ls fdrus flXuy izkIr gksaxs \ 

How many signals are obtained from PMR signal of 

CH3OCH2CH3 ? 

[k.M&c 

(Section—B) 

9- Dyksjvehu&Vh dk fuekZ.k VkWyqbZu ls fdl izdkj fd;k tkrk 

gS \ blds mi;ksx D;k gSa \ 

How is Chloramine-T prepared from toluene ? What 

are its uses ? 

10- lfØ; esfFkyhu lewg ls tqM+s d-H dh vEyh; izd`fr dks 

le>kb,A 

Explain the acidic nature of d-H attached with active 

methylene group. 
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11- LVkpZ ls D-Xywdksl dSls cuk;k tkrk gS \ le>kb,A 

How is D-Glucose prepared from starch ? Explain. 

12- ;ksx cgqydksa ds f=vk;keh foU;kl dks le>kb,A 

Explain the stereochemistry of addition polymers. 

13- fQukWY¶FkSyhu cukus dh fof/k fyf[k,A 

Write the method of preparation of phenolphthalein. 

14-   eku ,oa   eku ls D;k rkRi;Z gS \ budk vkil esa D;k 

lEcU/k gS \ 

What is meant by   value and value ? What is 

relation between them ? 

[k.M&l 

(Section—C) 

15- dhVks&bukssy pyko;ork dh fØ;kfof/k dks le>kb,A 

Explain the mechanism of Keto-Enol tautomerism. 

16- Xywdkst ds pØh; :i dh jklk;fud fØ;k le>kb,A 

Explain the chemical reactions of cyclic form of 

glucose. 

17- FkeksZlsfVax cgqyd cukus dh fØ;kfof/k dk o.kZu dhft,A 

Describe the mechanism of preparation of 

Thermosetting polymers. 
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18- vojDr LisDVªksehVj dk js[kkfp= cukdj muds Hkkxksa ds uke 

o dk;Z fyf[k,A 

Draw line diagram of infrared spectrometer and write 

the name of its parts and their functions. 

[k.M&n 

(Section—D) 

19- ,yhQsfVd lYQksfud vEy cukus dh fdUgha nks fof/k;ksa dks 

jklk;fud lehdj.k lfgr fyf[k,A  

Write any two methods of preparation of Aliphatic 

sulphonic acid with chemical reactions. 

20- ,YMkst+ esa fdfy;kuh&fQ’kj la’ys”k.k dks jklk;fud 

vfHkfØ;k lfgr le>kb,A 

Explain the Kiliani-Fischer synthesis in Aldose with 

chemical reactions. 

21- ,uk;fud cgqyhdj.k fdls dgrs gSa \ bldh fØ;kfof/k dks 

le>kb,A 

What is anionic polymerization ? Explain its 

mechanism. 

22- ukfHkdh; pqEcdh; vuqukn LisDVªksLdksih eas jklk;fud 

foLFkkiu dks le>kb,A 

Explain the chemical shift in nuclear magnetic 

resonance spectroscopy. 
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[k.M&b 
(Section—E) 

23- lajpuk ds vk/kkj ij izksVhu dk oxhZdj.k dhft,A 

Give the classification of proteins according to 
composition. 

24- ukfHkdh; pqEcdh; vuqukn LisDVªksLdksih ds fl)kUr dks 
le>kb,A 

Explain the theory of Nuclear Magnetic Resonance 
Spectroscopy. 
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O–6234 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

¼ubZ iqLrd ds vuqlkj½ 
ZOOLOGY 
Paper First 

¼ikfjfLFkfrdh  i;kZoj.k tSfodh  lw{etSfodh ,oa vks”kf/k izkf.kdh½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

2
2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 
fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  
10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 
,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  
17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 
type questions. Attempt all questions. Each 
question carries 01 mark. Answer each of 
these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 
type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 
page. 

Section–C : Question Nos. 15 to 18 are short answer type 
questions. Attempt any three questions. Each 
question carries 05 marks. Answer each of 
these questions in about 150 words or one 
page.    

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 

(Section—A) 

1- ,d ikfjfLFkfrdh ra= esa vtSfodh; ?kVd D;k gS \ 

What is the abiotic component in an ecosystem ? 

2- ,d lD;qysaV ls vki D;k le>rs gSa \ 

What do you understand by a succulent ? 

3- mRizoklu D;k gS \ 

What is Emigration ? 

4- [kk| Ük̀a[kyk D;k gS \ 

What is a food chain ? 

5- izksfV;ksfyfVd lw{etho D;k gSa \ 

What are proteolytic microorganisms ? 

6- mu nks oSKkfudksa ds uke crkb, ftUgksaus ‘kq: esa ok;jl ds 
dkj.k gksus okyh chekfj;ksa dh [kkst dh FkhA 

Name the two scientists who initially discovered 
diseases caused by viruses ? 

7- fueksfu;k D;k gS \ 

What is Pneumonia ? 
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8- fVªiSukslksek xkfEc,Ul ds izlkj ds fy, okgd D;k gS \ 
What is the carrier for the spread of Trypanosoma 
gambiense ? 

[k.M&c 
(Section—B) 

9- ,d jsfxLrkuh ikfjfLFkfrdh ra= ds ?kVd D;k gSa \ 
What are the components of a desert ecosystem ? 

10- ,d dE;qfuVh dh eq[; fo’ks”krk,¡ D;k gSa \ 
What are the salient features of a community ? 

11- yhfcx ds U;wure fu;e ls vki D;k le>rs gSa \ 
What do you understand by Leibig’s law of  
minimum ? 

12- ejdjh VksDlhflVh ds D;k y{k.k gS \ 
What are the symptoms of mercury toxicity ? 

13- ,M~l ij laf{kIr fVIi.kh fyf[k,A 
Write a concise note on AIDS. 

14- ePNjksa }kjk QSyus okyh chekfj;ksa ds izdkjksa dk uke crkb,A 
Name the types of diseases spread by mosquitoes. 

[k.M&l 
(Section—C) 

15- vkWDlhtu pØ D;k gS \ vkWDlhtu pØ dk js[kkafdr 
[khafp, vkSj blds egRo dks le>kb,A 
What is an oxygen cycle ? Draw oxygen cycle and 
explain its importance. 
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16- ikfjfLFkfrdh; vuqØe.k D;k gS \ vuqØe.k ds ra= dh 
O;k[;k dhft,A 

What is ecological succession ? Explain mechanism of 
succession. 

17- fo”kkDr inkFkks± ds oxhZdj.k ij ,d laf{kIr fVIi.kh fyf[k,A 

Write a concise note on classification of toxicants.  

18- cSDVhfj;k D;k gS \ cSDVhfj;k dh eq[; fo’ks”krk,¡ fyf[k,A 

What is a bacteria ? Write the salient features of 
bacteria. 

[k.M&n 
(Section—D) 

19- dhV oSDVj D;k gSa \ dhV oSDVj dh fofHkUu Jsf.k;ksa dks 
oxhZd̀r dhft, vkSj bu oSDVjksa ls QSyus okyh chekfj;ksa ds 
ckjs esa fyf[k,A 

What are insect vectors ? Classify different categories 
of insect vectors and write about the diseases spread by 
these vectors. 

20- lhost D;k gS \ lhost VªhVesaV Iyk.V esa lhost okVj ds 
mipkj esa fu;ksftr rjhds crkb,A 
What is Sewage ? Explain the methods employed in 
treatment of sewage water in a sewage treatment plant. 

21- ok;q iznw”k.k D;k gS \ ok;q iznw”k.k ds i;kZoj.kh; izHkkoksa ij 
foLr̀r fVIi.kh fyf[k,A 

What is Air Pollution ? Write a detailed note on the 
environmental effects of air pollution. 
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22- tula[;k D;k gS \ lef”V&y{k.k vkSj ?kuRo fu;a=.k ij ,d 
foLr̀r fVIi.kh fyf[k,A 

What is Population ? Write a detailed note on 
population characteristics and regulation of density. 

[k.M&b 

(Section—E) 

23- tgj D;k gS \ fofHkUu izdkjksa ds i’kqtfur tgjksa vkSj euq”; 
ds LokLF; ij muds }kjk iM+us okys foijhr izHkkoksa ds fo”k; 
esa foLrkj ls crkb,A 

What is a poison ? Explain in detail different types of 
poisons of animal origin and dangers posed by them on 
human health. 

24- vkS|ksfxd lw{etho foKku D;k gS \ ck;ksxSl  vYdksgkWy  

,aVhck;ksfVDl vkSj oSDlhu ds mRiknu dh izfØ;k dks 
le>kb,A 

What is Industrial Microbiology ? Explain the process 
of production of biogas, alcohol, antibiotics and 
vaccines. 
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O–6234/1 

B. Sc. (Third Year) (Old ATKT) 
 Term End Examination, Jan.-Dec., 2020 

¼iqjkuh iqLrd ds vuqlkj½ 
ZOOLOGY 

Paper  First 

Time : Three Hours ]  [ Maximum Marks : 70 
   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
22  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
22  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    
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Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  

Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 

(Section—A) 

1- ty df̀”k ls D;k vfHkizk; gS \ 

What do you mean by Aquaculture ? 

2- VSDlhMehZ ls vki D;k le>rs gSa \ 

Explain Taxidermy. 

3- ehBs ty esa ik;h tkus okyh fdlh eNyh dk izkf.koSKkfud 
uke fyf[k,A 

Give zoological name of a freshwater fish. 

4- mŸke izdkj ds eksrh dk fuekZ.k djus okys tUrq dk uke 
fyf[k,A 

Name the animal producing best quality pearls. 

5- rlj flYd mRiknu djus okys dhV dk uke fyf[k,A 

Give name of the insect producing Tasar Silk. 
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6- tSodhVuk’kd ls vki D;k le>rs gSa \ 
Explain bioinsecticide. 

7- vkfo”kkyqrk ls D;k vfHkizk; gS \ 
What do you mean by Toxicology ? 

8- pH dks ifjHkkf”kr dhft,A 
Define pH. 

[k.M&c 

(Section—B) 

9- >haxk ds oklLFkku ds ckjs esa fyf[k,A 

Explain the habitat of Prawn. 

10- eksrh fuekZ.k esa ck/kd tUrqvksa ds uke fyf[k,A 

Name animals hindering the formation of pearl. 

11- estj dkiZ ds uke fyf[k,A 

Give names of major carps. 

12- eNfy;ksa esa izsfjr tuu dh O;k[;k dhft,A 

Explain induced breeding in fishas. 

13- Qy ,oa lfCt;ksa dks gkfu igq¡pkus okys ik¡p dhVksa ds uke 

fyf[k,A 

Write the names of five insects causing loss of fruits 
and vegetables. 

14- i;kZoj.kh; vkfo”kkyqrk dh O;k[;k dhft,A 

Explain Environmental Toxicology. 
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[k.M&l 

(Section—C) 

15- fefJr eNyh ikyu dk o.kZu dhft,A 

Give an account of Polyculture. 

16- isLV dhVksa ds tSfod fu;a=.k dks le>kb,A 

Explain the biological control of pest. 

17- yk[k mRiknu dk o.kZu dhft,A 

Describe Lac culture. 

18- gSoh esVy vkfo”kkyqrk dk o.kZu dhft,A 

Discuss heavy metal toxicity. 

[k.M&n 

(Section—D) 

19- e/kqEkD[kh ikyu ij ,d fucU/k fyf[k,A 

Write an essay on Apiculture. 

20- eksrh fuekZ.k dh fØ;kfof/k dk o.kZu dhft,A 

Give an account of pearl formation. 

21- es<+d ikyu dk o.kZu dhft,A 

Describe frog culture. 

22- ihM+duk’kh ,oa buds vkfo”kkyq izHkko dk o.kZu dhft,A 

Discuss pesticides and their toxicological effects. 
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[k.M&b 

(Section—E) 

23- js’ke dhV ikyu ij ,d fucU/k fyf[k,A 

Write an essay on Sericulture. 

24- vkfo”kkyqrk ij ,d fucU/k fyf[k,A 

Write an essay on Toxicology. 
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O–6235 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

¼ubZ iqLrd ds vuqlkj½ 
ZOOLOGY 

Paper  Second 

¼vkuqoaf’kdh  dksf’kdk dkf;Zdh  tSojlk;u ,oa tSorduhdh½ 

Time : Three Hours ]  [ Maximum Marks : 70 
   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

22  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 
yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 
fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 
fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  
10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 
,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  
17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 
type questions. Attempt all questions. Each 
question carries 01 mark. Answer each of 
these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 
type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 
page. 

Section–C : Question Nos. 15 to 18 are short answer type 
questions. Attempt any three questions. Each 
question carries 05 marks. Answer each of 
these questions in about 150 words or one 
page.    

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- ekuo ‘kjhj esa fdrus tksM+s xq.klw= ik;s tkrs gSa \ 

How many pairs of chromosome are found in human 

body ? 

2- ØkWflax vksoj v)Zlw=h foHkktu dh fdl voLFkk esa lEiUu 

gksrh gS \ 

What stage does the crossing over occur in meiosis ? 

3- jDr dk pH fdruk gksrk gS \ 

What is the pH of blood ? 

4- lfØ; vfHkxeu esa ÅtkZ dgk¡ ls izkIr gksrh gS \ 

Where does energy in active transport comes ? 

5- isIVkbM~l fdls dgrs gS \ 

What is Peptides ? 

6- ØsCl pØ dk D;k egRo gS \ 

What is the importance of Kreb’s cycle ? 
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7- bysDVªkWu lw{en’khZ dh [kkst fdlus dh Fkh \ 

Who discovered the electron microscope ? 

8- o.kZysf[kdh ds iz;ksxksa ds fy, fdu oLrqvksa dh vko’;drk 

gksrh gS \ 

What items are required for the use of chromatography ?  

[k.M&c 

(Section—B) 

9- VªkfUt’ku o VªkUlo’kZu fdls dgrs gSa \ 

What is Transition and Transversion ? 

10- /kkrd thu fdls dgrs gS \ 

What is the lethal gene ? 

11- gkbMªkstu vk;u lkanz.k dks le>kb,A 

Explain hydrogen ion concentration. 

12- eksukslSdsjkbM ds xq.k fyf[k,A 

Write the properties of monosaccharide. 

13- ladj.k fdls dgrs gSa \ 

What is Hybridization ? 

14- dSyksjhehVj ds fl)kUr dk o.kZu dhft,A 

Describe principle of colorimeter. 
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[k.M&l 

(Section—C) 

15- fyax xq.klw= ij ,d laf{kIr fVIi.kh fyf[k,A 

Write a short note on sex chromosome. 

16- ijklj.k dks le>kb,A 

Explain Osmosis. 

17- fyfiM~l D;k gS \ fyfiM dk oxhZdj.k ,oa lajpuk dks 

le>kb,A 

What is Lipids ? Explain the classification and 

structure of lipid. 

18- thu Dyksfuax dks le>kb,A 

Explain gene cloning. 

[k.M&n 

(Section—D) 

19- lgyXurk D;k gS \ mldh fØ;kfof/k ,oa egRo dks 

le>kb,A 

What is Linkage ? Describe its mechanism and 

importance. 
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20- gkbMªksykbfVd ,Utkbe D;k gS \ bldk oxhZdj.k o uke 

i)fr dks le>kb,A 

What is hydrolytic enzymes ? Explain the 

classification and nomenclature of hydrolytic enzymes. 

21- izksVhu ds mikip; ij fuca/k fyf[k,A 

Write an essay on protein metabolism. 

22- bysDVªksQksjsfll dh dk;Ziz.kkyh dk o.kZu dhft,A 

Describe the methodology of electrophoresis. 

[k.M&b 

(Section—E) 

23- dkcksZgkbMªsV mikip; dk fooj.k nhft,A 

Description of carbohydrate metabolism. 

24- fjdkWfEcusUV Mh- ,u- ,- dks foLrkj ls le>kb,A 

Explain in detail recombinant DNA. 
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O–6235/1 

B. Sc. (Third Year) (Old ATKT) 
 Term End Examination, Jan.-Dec., 2020 

¼iqjkuh iqLrd ds vuqlkj½ 
ZOOLOGY 

Paper  Second 
(Ecology/Environmental Science) 

Time : Three Hours ]  [ Maximum Marks : 70 
   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    
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Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  

Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 
(Section—A) 

1- lkxj foKku D;k gS \ 

What is Oceanography ? 

2- ^bdksra=* ‘kCn dk iz;ksx loZizFke fdlus fd;k Fkk \ 

Who first used the term ‘Ecosystem’ ? 

3- lqihfj;j >hy dgk¡ fLFkr gS \ 

Where is Superior lake ? 

4- ck?k dk tUrqoSKkfud uke D;k gS \ 

What is the Zoological name of Tiger ? 

5- thok’e D;k gksrs gSa \ 

What is Fossils ? 

6- ySekdZokn dk ewy vk/kkj D;k gS \ 

What is the basis of Lamarckism ? 
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7- euq”; dk lcls vkfne iwoZt dkSu gS \ 

Who is man’s most primitive ancestor ? 

8- feyj us iz;ksx esa fdu feJ.kksa esa ls ljy vehuks ,flM dks 

la’ysf”kr fd;k \ 

Miller synthesized simple amino acid from which 

mixtures in use ? 

[k.M&c 

(Section—B) 

9- gkbMªkstu vk;u lkanzrk D;k gS \ 

What is hydrogen ion concentration ? 

10- LFkyh; vkokl dh fo’ks”krk,¡ fyf[k,A 

Write the characteristics of terrestrial habitat. 

11- /kkrq iznw”k.k ds D;k lzksr gSa \ 

What are the sources of Metal Pollution ? 

12- Lor% tuuokn ;k vthokr~ ds fl)kUr dks le>kb,A 

Describe the theory of Abiogenesis or Spontaneous 

generation. 

13- uo&MkfoZuokn dks le>kb,A 

Describe the Neo-Darwinism. 

14- thok’e foKku dh ‘kk[kkvksa ds uke fyf[k,A 

Write the name of branches of Paleontology. 
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[k.M&l 

(Section—C) 

15- bdksra= esa ÅtkZ izokg dks le>kb,A 

Explain the energy of flow in the ecosystem. 

16- fLFkj ty vkokl dks le>kb,A 

Describe the Lentic water habitat. 

17- ty iznw”k.k ds lzksrksa dk o.kZu dhft,A 

Describe the sources of water pollution. 

18- fofHkUurk dks le>kb,A 

Describe variation. 

[k.M&n 

(Section—D) 

19- thola[;k ,oa mldh fo’ks”krkvksa dk o.kZu dhft,A 

Explain the population and its characteristics. 

20- leqnzh; vkokl dks le>kb,A 

Describe the marine habitat. 

21- ihMduk’kd inkFkZ ij fuca/k fyf[k,A 

Write an essay on Pesticides. 

22- lw{e  nh?kZ  ,oa ògr~ fodkl dks le>kb,A 

Describe the micro, macro and mega evolution. 

 [ 6 ] O–6235/1 

[k.M&b 

(Section—E) 

23- vuqdwyu dks foLrkj ls le>kb,A 

Explain the detail about Adaptation. 

24- izkf.k;ksa ds HkkSxksfyd forj.k dk o.kZu dhft,A 

Describe in detail about Zoogeographical distribution 

of animals. 
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O–6236 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

BOTANY 

Paper  First 

(Plant Physiology, Biochemistry  
and Biotechnology) 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

2
2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 
fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  
10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 
,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  
17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 
type questions. Attempt all questions. Each 
question carries 01 mark. Answer each of 
these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 
type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 
page. 

Section–C : Question Nos. 15 to 18 are short answer type 
questions. Attempt any three questions. Each 
question carries 05 marks. Answer each of 
these questions in about 150 words or one 
page.    

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 

(Section—A) 

1- ok”iksRltZu fdrus izdkj dk gksrk gS \ 

How many types of Transpiration is there ? 

2- i.kZgfje dk ?kVd dkSu lk rRo gS \ 

Which element is the component of Chlorophyhll ? 

3- fodj ¼,Utkbe½ ‘kCn dk mi;ksx lcls igys fdlus fd;k 
Fkk \ 

Who has used the word “Enzyme” for the first time ? 

4- “CAM” dk iw.kZ :i D;k gS \ 

What is the full form of “CAM” ? 

5- fdlh lgthoh thok.kq dk uke fyf[k,A 

Write the name of any symbiotic bacteria. 

6- ßdEikuqdapuÞ dk ,d mnkgj.k nhft,A 

Give an example of “Seismonasty”. 

7- “PCR” dk iw.kZ :i nhft,A 

Give the full form of “PCR”. 
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8- ml ,Utkbe dk uke fyf[k, tks DNA dks chp esa ls 
dkVrk gS \ 

Write the name of the enzyme which cuts the DNA. 

[k.M&c 

(Section—B) 

9- folj.k ,oa ijklj.k esa vUrj dhft,A 

Differentiate between Diffusion and Osmosis. 

10- o.kZd rU= I rFkk o.kZd rU= II esa vUrj crkb,A 

Differentiate between photosystem I and 
photosystem II. 

11- ATP ds dk;ks± dk o.kZu dhft,A 

Describe the functions of ATP. 

12- olarhdj.k dks ifjHkkf”kr dhft,A 

Define Vernalization. 

13- DNA vaxqyhNkiu D;k gS \ le>kb,A 

What is DNA fingerprinting ? Explain. 

14- FISH ij laf{kIr uksV fyf[k,A 

Write a short note on FISH. 

[k.M&l 

(Section—C) 

15- ok”iksRltZu ,d vko’;d cqjkbZ gSA foospuk dhft,A 

Transpiration is a necessary evil. Justify the statement. 
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16- dsfYou pØ dk dsoy fp= cukb,A 
Draw only graphic Calvin cycle. 

17- fyfiM~l dk tSfod egRo fyf[k,A 
Write the biological importance of Lipids. 

18- cht izlqfIr dks le>kb,A 
Explain the Seed Dormancy. 

[k.M&n 
(Section—D) 

19- ,Utkbe dh fØ;kfof/k dks le>kb,A 
Explain the mechanism of Enzyme Action. 

20- ukbVªkstu fLFkjhdj.k dh tSfod fof/k dk o.kZu dhft,A 
Describe the biological method of Nitrogen Fixation. 

21- nhfIrdkfyrk dks le>kb,A 
Explain the Photoperiodism. 

22- okgd fdrus izdkj ds gksrs gSa \ le>kb,A 
How many types of Vectors are there ? Explain. 

[k.M&b 
(Section—E) 

23- ‘olu ds ØsCl pØ dk foLr̀r o.kZu dhft,A 
Describe Krebs’ cycle of respiration in detail.  

24- vkf.od fpàdksa ij ,d ys[k fyf[k,A 
Write an article on Molecular Markers. 
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O–6237 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

BOTANY 

Paper Second 

¼ikfjfLFkfrdh rFkk ikni mi;ksx½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

2
2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 
fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  
10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 
,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  
17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 
type questions. Attempt all questions. Each 
question carries 01 mark. Answer each of 
these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 
type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 
page. 

Section–C : Question Nos. 15 to 18 are short answer type 
questions. Attempt any three questions. Each 
question carries 05 marks. Answer each of 
these questions in about 150 words or one 
page.    

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  



 [ 3 ] O–6237 

 P. T. O. 

Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 
(Section—A) 

1- ;wthu vksMe tho foKku dh fdl ‘kk[kk ls lacaf/kr gSa \ 
To which branch of biology Eugene Odum is related ? 

2- ,d ijthoh ikS/ks dk uke crkb,A 
Name a parasitic plant. 

3- ysX;wfeukslh dqy ds ikS/kksa dh tM+ksa esa ik;s tkus okys thok.kq 
dk uke crkb,A 
Name the bacteria found in roots of plants of 
Leguminosae family. 

4- ,d {ks= fo’ks”k esa ik;h tkus okyh fdlh tkfr fo’ks”k dh 
la[;k dks D;k dgk tkrk gS \ 
What is the group of a particular species residing in a 
particular area known as ? 

5- tho/kkfj;ksa ds ‘kjhj esa ik;s tkus okys dkcZu lzksr D;k gSa \ 
What is the ultimate source of carbon in the body of 
organisms ? 

6- ikfjra= esa dod D;k dgykrs gSa \ 
What are fungi known as in an ecosystem ? 

7- /kku dk okuLifrd uke crkb,A 
Name the botanical name of paddy. 
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8- pk; dk okuLifrd uke crkb,A 
Name the botanical name of tea. 

[k.M&c 
(Section—B) 

9- tyksn~fHkn ikS/kksa ds ik¡p y{k.k fyf[k,A 
Write five characters of hydrophytic plants. 

10- eǹk esa ik;s tkus okys dkcZfud inkFkZ ds egRo ij fVIi.kh 
fyf[k,A 
Write a note on the importance of organic matter in 
soil. 

11- vuqØe.k D;k gS \ izkFkfed ,oa f}rh;d vuqØe.k dks 
ifjHkkf”kr dhft,A 
What is succession ? Define primary and secondary 
succession. 

12- vk;q ds fijkfeM ij fVIi.kh fyf[k,A 
Write a note on the pyramid of age. 

13- dikl ds okuLifrd uke  dqy  mi;ksxh Hkkx ,oa 

mi;ksfxrk ij ,d fVIi.kh fyf[k,A 
Write a note  on the botanical name, family, useful part 
and uses of cotton. 

14- elkyk iznku djus okys ik¡p ikS/kksa ds okuLifrd uke  rFkk 

mi;ksxh Hkkx ds uke crkb,A 
Write the botanical name and useful part of five spice 
yielding plants. 
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[k.M&l 

(Section—C) 

15- clUrhdj.k D;k gS \ bldh izfØ;k ,oa egRo dks le>kb,A 

What is Vernalization ? Explain its process and 
importance. 

16- lef”V esa tUe nj ij fVIi.kh fyf[k,A 

Write a note on the birth rate (natality) in a 
population. 

17- /kku dh [ksrh ,oa okuLifrd y{k.kksa dk o.kZu dhft,A 

Describe cultivation and botanical features of paddy. 

18- vkS”kf/k iznku djus okys nl ikS/kksa ds okuLifrd uke rFkk 
mi;ksxh Hkkx dk uke fyf[k,A 

Write the botanical name and useful parts of ten 
medicinal plants. 

[k.M&n 

(Section—D) 

19- ikfjfLFkfrd ra= esa Hkkstu Ük`a[kyk ,oa Hkkstu tky dks 
le>kb,A 

Explain the food chain and food web in an ecosystem. 

20- ukbVªkstu pØ dks le>kb,A 

Explain Nitrogen cycle. 

21- rsy iznku djus okys rhu ikS/kksa dk laf{kIr o.kZu dhft,A 

Describe in brief three oil yielding plants. 
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22- xSj&vYdksgkWfyd is; iznku djus okys nks ikS/kksa dk o.kZu 
dhft,A 

Describe two plants yielding non-alcoholic beverage. 

[k.M&b 

(Section—E) 

23- ?kkl ikfjra= dh lajpuk dk o.kZu dhft,A 

Describe the structure of a grassland ecosystem. 

24- Hkkjr esa ik;s tkus okys fofHkUu izdkj ds ouksa dk o.kZu 
dhft,A 

Describe the different types of forests found in India. 
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O–6238 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

PHYSICS 

Paper First 

(Origin of Quantum Mechanics—Atom, 
Molecular and Nuclear Physics) 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

2
2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
22  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    
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Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  

Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- Iykad fu;rkad ‘h’ dk eku fyf[k,A 

Write the value of Planck constant ‘h’. 

2- lewg osx ,oa dyk osx esa laca/k dk lw= fyf[k,A 

Write the formula of relation between Group Velocity 

and Phase Velocity. 

3- fdlh Lora= d.k ds fy, ÜkzksfMatj lehdj.k dks fyf[k,A  

Write Schrödinger equation for a free particle. 

4- vi&DokdZ ds vkos’k dk eku fyf[k,A 

Write the value of charge of Up-quark. 

5- ukfHkdh; fj,DVj esa fu;a=d NM+sa fdl rRo dh gksrh gSa \ 

Which element of control rod in nuclear reactor ? 
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6- jSys&thu dk lw= fyf[k,A 

Write Rayleigh-Jeans formula. 

7- Iykad us DokaVe fl)kUr dk izfriknu fdl lu~ esa fd;k  
Fkk \ 

In which year Planck postulated principle of quantum 
mechanics ? 

8- ie   dk eku fyf[k,A 

Write the value of ie  . 

[k.M&c 
(Section—B) 

9- dqy ÅtkZ vkSj lkisf{kd laosx ds chp laca/k dks fyf[k,A 

Write relation between total energy and relativistic 
momentum. 

10- ;fn 0E /A sin ,ix
e

a


    tgk¡ 0 x a   rks A  

dk eku Kkr dhft,A 

If 0E /A sin ,ix
e

a


    where 0 x a  , then find 

the value of A . 

11- dks.kh; laosx dh ifjHkk”kk fyf[k,A 

Write the definition of angular momentum. 

12- rjax Qyu dh ifjHkk”kk fyf[k,A 

Write the definition of wave function. 
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13- gkbMªkstu dh LisDVªeh Jsf.k;ksa ds uke fyf[k,A 

Write spectral series of hydrogen. 

14- vk/kkjHkwr var%fØ;kvksa ds uke fyf[k,A 

Write names of fundamental interactions. 

[k.M&l 

(Section—C) 

15- jsfM;ks,fDVo fo?kVu ds fu;e ds fy, O;atd Kkr dhft,A 

Derive the expression for radioactive disintegration. 

16- ukfHkdh; fØ;kvksa ds izdkj fyf[k,A 

Write the types of nuclear reactions. 

17- gkbMªkstu ijek.kq ds cksgj ekWMy dks fyf[k,A 

Write Bohr’s model of hydrogen atom. 

18- yEckbZ esa ladqpu D;k gS \ 

What is length contraction ? 

[k.M&n 

(Section—D) 

19- ckWDl esa eqDr d.k dh ÅtkZ ds fy, O;atd Kkr dhft,A 

Derive an expression for energy in a box. 
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20- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) lkbDyksVªkWu 

(ii) xkbxj&ewyj xf.k= 

Write short notes on the following : 

(i) Cyclotron 

(ii) G M counter 

21- ?kw.khZ; ÅtkZ ds DokUVhdj.k dks le>kb,A 

Explain quantisation of rotational energy. 

22- ;wdkok ds eslku fl)kUr dks le>kb, rFkk ukfHkd ds 

nzo&cw¡n ekWMy dks fyf[k,A 

Explain Yukawa’s Meson theory and write liquid-drop 

model of nucleus. 

[k.M&b 

(Section—E) 

23- L-S ,oa J-J ;qXeu dks foLrkj ls le>kb,A 

Explain in detail L-S and J-J coupling. 

24- ukfHkdh; fj,DVj dks foLrkj ls le>kb,A 

Explain in detail the nuclear reactors. 
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O–6239 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

PHYSICS 

Paper  Second 

¼Bksl voLFkk HkkSfrdh vkSj bysDVªkWfudh½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

2
2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    



 [ 3 ] O–6239 

 P. T. O. 

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  

Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 
(Section—A) 

1- X-ray dh [kkst fdlus dh Fkh \ 
Who invented X-Ray ? 

2- esMyax fu;rkad dk eku fyf[k,A 
What is the value of Madelung constant ? 

3- inkFkZ esa pqEcdRo dk ewy dkj.k D;k gS \ 
What is the basic reason of magnetism in substances ? 

4- D;wjh&ohl fu;e fdu inkFkks± ij ykxw gksrk gS \ 

Which materials follow to Curie-Weiss’s law ? 

5- v)Z&pkydksa esa /kkjk izokg fdl ?kVuk ds dkj.k gksrk gS \ 

What is the main reason of current conduction in semi-
conductors ? 

6- LED dk iw.kZ:i D;k gksrk gS \ 

Write full form of LED. 
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7- VªkaftLVj esa laf/k;ksa dh la[;k fdruh gksrh gSa \ 
How many junctions are there in transistor ? 

8- C&Hkk”kk esa fdrus dqath ‘kCn gksrs gSa \ 
How many keywords are there in C-language ? 

[k.M&c 
(Section—B) 

9- Qyd dsUnzh; tkyd dh ifjHkk”kk fyf[k,A 
Define face centered lattice. 

10- oftZr ÅtkZ varjky ls D;k rkRi;Z gS \ 
What do you mean by Forbidden Energy Gap ? 

11- vuqpqEcdRo ls D;k rkRi;Z gS \ 
Define Paramagnetism. 

12- lewg osx o rjax osx dks ifjHkkf”kr dhft,A 
Define group and phase velocity. 

13- vuqxeu /kkjk ls D;k rkRi;Z gS \ 
What do you mean by drift velocity ? 

14- C-Hkk”kk esa ,sjs dk vFkZ le>kb,A 
Define the meaning of an array in C-language. 

[k.M&l 

(Section—C) 

15- ,d ljy ?kuh; ysfVl ds ¼3  2  1½ ryksa ds chp ds 

vUrjky dh x.kuk dhft,  tgk¡ ysfVl fu;rkad  

4-2 × 10&10 ehVj gSA 
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Find the interval of lattice planes for a simple cubic 
lattice for (3, 2, 1), where the lattice constant is  
4.2 × 10–10 metre. 

16- B-H ywi ij laf{kIr fVIi.kh fyf[k,A 

Write a short note on B-H loop. 

17- nksfy= dk fl)kUr le>kb,A 

Explain the principle of an oscillator. 

18- gkbfczM izkpy dh dk;Zfof/k o.kZu dhft,A 

Describe the mechanism of hybrid parameter. 

[k.M&n 
(Section—D) 

19- vkbaLVhu ds fof’k”V Å”ek fl)kUr dk laf{kIr o.kZu dhft,A 

Briefly describe the Einstein’s specific heat principle. 

20- QehZ ÅtkZ dk O;atd LFkkfir dhft,A 

Derive an expression of Fermi energy. 

21- NPN VªkaftLVj dh dk;Zfof/k dks le>kb,A 

Explain the working of NPN transistor. 

22- ‘L’ rFkk ‘  ’ vuqHkkx fQYVj esa rqyuk dhft,A 

Compare the ‘L’ and ‘  ’ section filter. 

[k.M&b 
(Section—E) 

23- iw.kZ rjax fn”Vdkjh ifjiFk dk lfp= o.kZu dhft, rFkk 
/kkjk dk vkSlr eku o mfeZdk ?kVd dks Kkr dhft,A 
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Describe the full wave rectifier with its circuit diagram 
and find the average value of current and ripple factor 
in this circuit. 

24- ^ccy lkWfV±x (Bubble sorting)’ ls vki D;k le>rs gSa \ 
le>kb,A  

What do you mean by bubble sorting ? Explain  
it. 
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O–6240 

B. Sc. (Third Year)  
 Term End Examination, Jan.-Dec., 2020 

MATHEMATICS 

Paper First 

¼vewrZ chtxf.kr½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 1

2
2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 
fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  
10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 
,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  
17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 
type questions. Attempt all questions. Each 
question carries 01 mark. Answer each of 
these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 
type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 
page. 

Section–C : Question Nos. 15 to 18 are short answer type 
questions. Attempt any three questions. Each 
question carries 05 marks. Answer each of 
these questions in about 150 words or one 
page.    

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 
(Section—A) 

1- la;qXeh oxZ dks ifjHkkf”kr dhft,A  
Define Conjugate Class.  

2- lekdkfjrk dh vf”V dks ifjHkkf”kr dhft,A 
Define kernel of Homomorphism.  

3- eq[; xq.ktkoyh dks ifjHkkf”kr dhft,A  
Define principal ideal.  

4- fdlh lfn’k lef”V dh fola?kh; milef”V;ksa dks ifjHkkf”kr 
dhft,A  
Define disjoint subspaces of a vector space.  

5- vfHkyk{kf.kd eSfVªDl dks ifjHkkf”kr dhft,A  
Define characteristic matrix.  

6- izlkekU; ykfEcd leqPp; dks ifjHkkf”kr dhft,A  
Define orthonormal set.  

7- ,d lewg dh vUrjkdkfjrk dks ifjHkkf”kr dhft,A  
Define Endomorphism in a group. 

8- lfn’k lef”V esa ‘kwU; lef”V dks ifjHkkf”kr dhft,A  
Define null space in vector space.  
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[k.M&c 
(Section—B) 

9- xzqi G dk xqzi G' esa izfrfp=.k f vUr{ksZih lekdkfjrk gksxk 
;fn vkSj dsoy ;fn ker f = {e}A 
f image of group G onto G' i.e. : G Gf   be 

isomorphism if and only if ker f = {e}. 

10- fl) dhft, fd ‘kwU; Hkktd jfgr oy; dk rqY;kdkjh 
izfrfcEc Hkh ,d ‘kwU; Hkktd jfgr oy; gksrk gSA 
Prove that homomophic image of a ring without zero 
divisor is also a ring with zero divisor.  

11- ;fn V {ks= F ij ,d lfn’k lef”V gS rFkk V dk ‘kwU; 
lfn’k 0 gS rFkk F dk ;ksT; rRled vo;o ‘kwU; gS  rc % 

(i) a0 = 0 Fa    

(ii) 0V = 0 V, 0 Fv    

Let V be a vector space over field F and 0 be the zero 
vector of V and 0 be the zero scalar of F, then : 

(i) a0 = 0 Fa    

(ii) 0V = 0 V, 0 Fv    

12- ;fn S vkSj T lfn’k lef”V V (F) ds mileqPp; gksa  rks % 

(i) S L (T) L (S) L (T)     

(ii) S, V dh milef”V gS ;fn vkSj dsoy ;fn L (S) = S 
If S and T are subsets of a vector space V (F), then  : 

(i) S L (T) L (S) L (T)     

(ii) S is a subspace of V L (S) S    
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13- ;fn F : U (F) V (F)  lekdkfjrk gS  rc bldh vf”V 

K f U dh milef”V gksrk gSA   

If F : U (F) V (F)  is a homomorphism, then kernel 

of homomorphism is a subspace of U (F). 

14- ;fn W fdlh ;wfDyMh; lef”V V dh milef”V gS  rc 

W Hkh V dh milef”V gSA 
Let W be any set of vectors in an inner product space 

V, then W  is a subspace of V. 

[k.M&l 
(Section—C) 

15- lkbyks izFke izes; dh dFku lfgr O;k[;k dhft,A  
State and prove Sylow’s first theorem.  

16- oy; R dh fdUgha Hkh nks xq.ktkofy;ksa dk mHk;fu”B Hkh 
oy; R dh xq.ktkoyh gksrk gSA  
The intersection of two ideals of any ring R is an ideal 
of R. 

17- lfn’k lef”V % 

 1 2 3 4 1 2 3 4V (R) ( , , , ) | , , , Ra a a a a a a a   

eas lfn’k % 

1V (6, 2, 3, 4)  

 2V (0, 5, 3,1)   

rFkk             3V (0, 0, 7, 2)   

,d?kkrr% Lora= gaS  fl) dhft,A    
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Prove that in the vector space : 

 1 2 3 4 1 2 3 4V (R) ( , , , ) | , , , Ra a a a a a a a   

the vector : 

1V (6, 2, 3, 4)  

 2V (0, 5, 3,1)   

and                     3V (0, 0, 7, 2)   

are linearly independent.  

18- n’kkZb;s fd eSfVªDl % 

0 1 0

A 0 0 1

1 3 3

 
   
  

 

vfod.khZ; gSA  

Show that the matrix A is not diagonalizable : 

0 1 0

A 0 0 1

1 3 3

 
   
  

 

[k.M&n 

(Section—D) 

19- n’kkZb, fd N (a) xqzi G dk mi&xqzi gksrk gSA 

Show that N (a) is a subgroup of G. 
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20- ;fn : R Rf   oy; (R, +, .) ls oy; (R', +, .) esa 

dksbZ lekdkfjrk gS  rFkk ;fn S R   oy; R dk 

lekdkjh izfrfcEc gS rc S', R' dk mioy; gksrk gSA  

If : R Rf   be homomorphism on ring (R, +, .) to 

ring (R', +, .) and if S R   be any homomorphic 

image, then S' is subring of R'.  

21- ;fn V {ks= ij F ij lfn’k lef”V gks  rks blds ,d 

vfjDr mileqPp; W ds V (F) dh milef”V gksus ds fy, 
vko’;d ,oa i;kZIr izfrcU/k gS fd U, V W   rFkk 

, F U + V Wa b a b    A   

The necessary and sufficient condition for a non-empty 
subset W of a vector space V (F) to be a vector 
subspace V is U, V W   and , Fa b  

U + V Wa b  . 

22- ekuk fd % 

3 0

A 1 2

2 1

 
   
  

 

V (A) dks Kkr dhft,A   

Let : 

3 0

A 1 2

2 1

 
   
  

 

Find V (A). 
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[k.M&b 

(Section—E) 

23- fdlh ifjfer foeh; lfn’k lef”V V(F) dk izR;sd 
,d/kkrr% Lora= leqPp; ;fn V(F) dk vk/kkj ugha gS  rks 

mldks c<+kdj vk/kkj cuk;k tk ldrk gSA  

Every linearly independent subset of a finitely 
generated vector space V(F) is either a basis of V or 
can be extended to form a basis of V. 

24- xzke&f’eV izØe dk mi;ksx djds 3R  ds vk/kkj  
{(1, 0, 1)  (1, 2, –2), (2, –1, 1)} ls ,d izlkekU; ykfEcd 
vk/kkj izkIr dhft,A  

Apply the Gram-Schmidt orthogonalization process to 

obtain an orthonormal basis of 3R in {(1, 0, 1),  

(1, 2, –2), (2, –1, 1)}. 
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O–6241 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

MATHEMATICS 

Paper  Second 

(Mechanics Part—2) 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    
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Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  

Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 

(Section—A) 

1- eq[; v{k dks ifjHkkf”kr dhft,A  

Define principal axis. 

2- Li’kZ js[kk dh fn’kk eas izHkkoh cy fyf[k,A 

Write effective force in direction of tangent. 

3- LFkkukUrj xfr dks ifjHkkf”kr dhft,A 

Define motion of translation. 

4- Bksl xksys dh ifjHkze.k f=T;k fyf[k,A 

Write revolutions radius of a solid sphere. 

5- mRIykou cy D;k gS \ 

What is force of Buoyancy ? 

6- mRIykou dsUnz D;k gS \ 

What is centre of Buoyancy ? 
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7- vkn’kZ xSl dk lehdj.k fyf[k,A 

Write equation of Perfect Gas. 

8- #)ks”e izlkj D;k gS \ 

What is Adiabatic Expansion ? 

[k.M&c 
(Section—B) 

9- le vk?kw.khZ fudk; ds fy, vko’;d ,oa i;kZIr ‘krZ 
fyf[k,A 

Write necessary and sufficient condition for 
equimomental system. 

10- fol&ohok dk fl)kUr fyf[k,A 

Write the principle of Vis-Viva. 

11- ÅtkZ laj{k.k fl)kUr fyf[k,A 

Write the principle of conservation of energy. 

12- fn;s x;s cyksa ds vUrxZr fo”kekaxh rjy ds larqyu dh ‘krZ 
fyf[k,A 

Write the condition of equilibration of non-
homogeneous liquid under given forces. 

13- ije rki dks ifjHkkf”kr dhft,A 

Define Absolute Temperature. 

14- nzo esa Lora= rSjrs gq, fi.Mksa ds larqyu dh ‘krs± fyf[k,A 

Write the condition of equilibrium of floating bodies, 
in liquid freely. 
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[k.M&l 

(Section—C) 

15- yEco`Ÿkh; csyu ds v{k ds ifjr% bldk tM+Ro vk?kw.kZ Kkr 
dhft,A 

Find moment of inertia of right circular cylinder about 
its axis. 

16- mRdsUnzrk e okyk nh?kZo`Ÿkh; {ks= vius ,d ukfHkyEc ds 
ifjr%    dks.kh; osx ls ?kwe jgk gSA vpkud bl ukfHkyEc 
dks nwljs ukfHkyEc esa fLFkj dj fn;k tkrk gSA fl) dhft, 

u;k dks.kh; osx 
2

2

1 4

1 4

e

e





 gksxkA 

An elliptic region of ecentricity e is moving with 
angular velocity   about its latus rectum. If this latus 
rectum is shifted in its other latus rectum, then prove 
that new angular velocity is : 

2

2

1 4

1 4

e

e





. 

17- a rFkk b Hkqtk okys vk;r ij ncko Kkr dhft, tc Hkqtk  
a {kSfrt rFkk Lora= lrg ls c nwjh ij gS rFkk vk;r dk 
lery Å/okZ/kj ls   dks.k cukrk gSA 

Find the pressure on rectangle of sides a and b where 
side a is at distance c from horizontal and independent 
surface and plane of rectangle makes angle with 
vertical. 
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18- ;fn 10°C ij gok dh ek=k dk vk;ru 300 ?ku lseh- gS  

rks 20°C  ij gok dk vk;ru Kkr dhft,A 

If volume of a gas is 300 cm3 at 10°C temperature, 
then find the volume at 20°C.  

[k.M&n 

(Section—D) 

19- ;fn dksbZ C   viuh Hkqtk BC ds ifjr% Lora= :i ls 

?kwe jgk gS  rks bldk vk?kkr dsUnz Kkr dhft,A 

If C   is moving around its side BC freely, then 

find its centre of percussion. 

20- ÅtkZ laj{k.k dk fl)kUr fyf[k, vkSj fl) dhft,A 

State and prove principle of conservation of energy. 

21- ,d cUn csyu ftldk v{k Å/okZ/kj gS  nzo ls Hkjk gSA nzo 

ds fdlh fcUnq ij ncko Kkr dhft,A 

 A closed cylinder whose axis is vertical is full of 
liquid. Find the pressure at any point of liquid. 

22- csyukdkj vk;ru ds fy, mRIykou lrg Kkr dhft,A 

Find the surface of buoyancy of cylindrical volume. 

[k.M&b 

(Section—E) 

23- ìFoh dh lrg ls fdlh fcUnq dh Å¡pkb Kkr dhft,A 

Find the height of any point from Earth’s surface. 
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24- ,d  ,dleku o`Ÿkh; iVy vius Å/okZ/kj lery esa ,d 

:{k lery ij osx V rFkk dsUnz ds lkis{k osx  ls 
iz{ksfir fd;k tkrk gSA xfr dh O;k[;k dhft,A 

A uniform circular plate is projected vertically 
upwards in a rough plane with velocity V and angular 
velocity   about its centre. Discuss the motion. 
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O–6242 

B. Sc. (Third Year) 
 Term End Examination, Jan.-Dec., 2020 

MATHEMATICS 

Paper  Third 

¼ljy lkaf[;dh; fl)kUr ,oa muds mi;ksx½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 
lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  
01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  
2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 
fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2  vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  
[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 
fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 
yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 
fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  
10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 
,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  
17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  
600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 
type questions. Attempt all questions. Each 
question carries 01 mark. Answer each of 
these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 
type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 
page. 

Section–C : Question Nos. 15 to 18 are short answer type 
questions. Attempt any three questions. Each 
question carries 05 marks. Answer each of 
these questions in about 150 words or one 
page.    

Section–D : Question Nos. 19 to 22 are half long answer 
type questions. Attempt any two questions. 
Each question carries 10 marks. Answer each 
of these questions in about 300 words or two 
pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 
questions. Attempt any one question. Each 
question carries 17 marks. Answer each of 
these questions in about 600—750 words or 
04—05 pages. 

[k.M&v 
(Section—A) 

1- fuEufyf[kr vk¡dM+ksa dk ek/; Kkr dhft, % 
100, 110, 140, 70, 80 

Write mean of the following terms : 

100, 110, 140, 70, 80 

2- izFke ‘kred fudkyus dk lw= fyf[k,A 
Write the formula for finding first percentiles. 

3- fdlh ?kVuk dh vf/kdre fdruh izkf;drk gksxh \ 
Maximum number of probability in any event is what ? 

4- ;fn 1 2,EE rFkk 3E dksbZ rhu ?kVuk,¡ gksa  rks % 

1 2 3P(E E / E )   .............. 

If 1 2,EE and 3E are three events, then : 

1 2 3P(E E / E )   .............. 

5- f}in caVu ( )nq p  dk ek/; D;k gS \ 

What is the mean of Binomial distribution ( )nq p  ? 

6- fi;lZu ds lglEcU/k xq.kkad dh lhek D;k gksrh gS \ 
What is the limit of Pearson’s coefficient of correlation ? 
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7- t&caVu dk ek/; D;k gksrk gS \ 

What is mean of t-distribution ? 

8- 2  ¼dkbZ&oxZ½ ijh{k.k dh [kkst fdlus dh \ 

Who invented 2 (Chi-square) test ? 

[k.M&c 

(Section—B) 

9- lap;h vkof̀Ÿk dks le>kb,A 

Explain cumulative frequency. 

10- cgqyd ds xq.k fyf[k,A 

Write the merits of mode. 

11- izfrca/kh izkf;drk dks le>kb,A 

Explain conditional probability. 

12- ?kkrh; caVu dks le>kb,A 

Explain exponential distribution. 

13- dksfV lglEcU/k dks le>kb,A 

Explain rank correlation. 

14- vkaf’kd lglEcU/k D;k gS \ 

What is partial correlation ? 



 [ 5 ] O–6242 

 P. T. O. 

[k.M&l 
(Section—C) 

15- fuEufyf[kr vk¡dM+ksa ls cgqyd Kkr dhft, % 

x y 

0—4 
4—8 

8—12 
12—16 
16—20 

4 
6 
10 
8 
4 

Find mode from the following data : 

x y 

0—4 
4—8 

8—12 
12—16 
16—20 

4 
6 
10 
8 
4 

16- ;fn fdlh yhi o”kZ dks ;kn`PN~;k pqu fy;k tk;  rks ml 

o”kZ esa 53 jfookj gksus dh izkf;drk Kkr dhft,A 
What is the chance that a leap year selected at random, 
will contain 53 Sundays ? 

17- f}in caVu ds fy, fl) dhft, % 

1 1
r

r r
d

pq nr
dp 
 

    
 

  

For the Binomial distribution, prove that : 

1 1
r

r r
d

pq nr
dp 
 

    
 
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18- ;fn 23 31 210.40, 0.60, 20.70r r r    gks  rks 1.23r  dk 
eku Kkr dhft,A 
If 23 31 210.40, 0.60, 20.70r r r   , then find 1.23r . 

[k.M&n 
(Section—D) 

19- fuEufyf[kr vk¡dM+ksa dk gjkRed ek/; Kkr dhft, % 
5, 10, 15, 20 

Find the Harmonic mean of the following data : 
5, 10, 15, 20 

20- cwy vlfedk dks fyf[k, ,oa fl) dhft,A 
State and prove Boole’s Inequality. 

21- fuEufyf[kr vk¡dM+ksa ls x ,oa y ds chp lglEcU/k xq.kkad 
Kkr dhft, % 

x y 

– 10 
– 5 
0 
5 

10 

5 
9 
7 
11 
13 

Calculate the coefficient of correlation between the 
following data : 

x y 

– 10 
– 5 
0 
5 

10 

5 
9 
7 
11 
13 
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22- fuEufyf[kr lkj.kh ls 2  dh x.kuk dhft, % 

d{kk A B C D 

ckydksa dh 
la[;k 100 80 50 40 

mŸkh.kZ 25 73 40 35 

Calculate the Chi-square from the following table : 

Class A B C D 

No. of 
Students 100 80 50 40 

Pass 25 73 40 35 

[k.M&b 
(Section—E) 

23- fuEufyf[kr vk¡dM+ksa eas fn;s x;s nks pjksa ds eku ds fy, 
lekJ;.k xq.kkad Kkr dhft,A 

x y 

18 

19 

20 

21 

22 

23 

24 

25 

26 

27 

17 

17 

18 

18 

18 

19 

19 

20 

21 

21 
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The following data gives the various values of two 
variables. Calculate the coefficient of regression : 

x y 

18 

19 

20 

21 

22 

23 

24 

25 

26 

27 

17 

17 

18 

18 

18 

19 

19 

20 

21 

21 

24- IokW;lka caVu ds izes; dks fyf[k, ,oa fl) dhft,A 
State and prove Poisson Distribution Theorem. 
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  ¼vU; funsZ’k vfUre i”̀B ij ns[ksa½ 

       mŸkj&i=d dk Øekad 

 

 

iz’u&iqfLrdk esa i`”Bksa dh la[;k % 8 iz’u&iqfLrdk esa iz’uksa dh la[;k % 50 

ch- ,-@ch- ,l&lh-@ch- dkWe- ¼ikVZ III½ 

la=kr ijh{kk] tuojh&fnlEcj] 2020 

¼vk/kkj ikB;Øe½ 

izFke iz’ui= 

fgUnh Hkk”kk 

le; % 2 ?k.Vk 15 feuV ] [ iw.kk±d % 50 

    [ U;wure mŸkh.kk±d % 17 

ijh{kkfFkZ;ksa ds fy, funsZ’k 

1. iz’u&iqfLrdk feyrs gh eq[k i`”B ,oa vafre i`”B esa fn, x, funsZ’kksa dks vPNh rjg i<+ ysaA 

2. Åij fn, gq, fu/kkZfjr LFkkuksa esa viuk mŸkj&i=d dk Øekad fyf[k,A 

3. lqfuf’pr dj ysa fd iz’u&iqfLrdk esa dqy i`”B Åij fy[ks vuqlkj fn, gq, gSa rFkk mlesa lHkh 50 iz’uksa 

dk eqnz.k lgh gSA fdlh Hkh izdkj dh =qfV gksus ij 15 feuV ds vanj oh{kd dks lwfpr dj lgh 

iz’u&iqfLrdk izkIr dhft,A 

4. izR;sd iz’u gsrq iz’u&iqfLrdk esa iz’u ds uhps fn, x, pkj fodYiksa (A, B, C, D) esa ls lgh mŸkj dk 

p;u dj mŸkj&i=d esa lgh xksys dks dkys ;k uhys ckWy&Iokb.V isu ls Hkfj,A 

5. iz’u&iqfLrdk esa 50 oLrqfu”B iz’u fn, x, gSaA izR;sd lgh mŸkj gsrq 1 vad vkcafVr fd;k x;k gSA 

_.kkRed ewY;kadu ugha gSA 

6. vks- ,e- vkj mŸkj&i=d esa leLr izfof”V;k¡ fn, x, funsZ’kkuqlkj dhft,] vU;Fkk mŸkj&i=d dk 

ewY;kadu ugha fd;k tk,xkA 

7. lgh mŸkj okys xksys dks vPNh rjg ls dkyk@uhyk MkWV isu ls xk<+k dj nsa] vU;Fkk mŸkj dk ewY;kadu 

ugha gksxkA bldh leLr ftEesnkjh ijh{kkFkhZ dh gksxhA 

fo”k; 

dksM  O–6006  



   ¼vU; funsZ’k vfUre i”̀B ij ns[ksa½ 
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1. ^Hkkjr ekrk* dfork dc fy[kh xbZ \ 

(A) fnlEcj 1950 

(B) Qjojh 1955 

(C) tuojh 1940 

(D) tuojh 1947 

2. dfo us xzkeokfluh fdls dgk gS \ 

(A) Hkkjr ekrk dks  

(B) v/kZ {kqf/kr tu dks  

(C) xzkeh.k vapy dks 

(D) Hkkjrh;ksa ds xqyke thou dks  

3. ns’k ds /kuifr;ksa dks dfo us fdldh laKk nh 

gS \ 

(A) tehankjksa  

(B) jktkvksa  

(C) dqcsj  

(D) y{ehukjk;.k  

4. ^ij’kqjke dh izrh{kk* dfork esa dkSu&lk jl 

gS \ 

(A) ohHkRl 

(B) ohj 

(C) d#.k 

(D) ‘kkUr 

5. ßcgqr cM+k lokyÞ ,dkadh esa ys[kd dk 

mís’; D;k gS \ 

(A) e/; oxZ dh mUufr 

(B) e/; oxZ ,oa deZpkfj;ksa dh vkokl 

leL;k 

(C) O;fDr dk drZO;fu”B gksuk  

(D) cSBdksa dh dk;Zokgh dk fn[kykuk 

6. ikB~;Øe lEcfU/kr iqLrd dk izdk’ku fdl 

laLFkku ls gS \ 

(A) fodkl izdk’ku 

(B) lerk izdk’ku 

(C) oh.kk izdk’ku 

(D) izKk ifCyds’kUl 

7. ekuo vkSj i’kq esa fHkUurk gS % 

(A) fpUru ds dkj.k 

(B) lekt ds dkj.k 

(C) laLd`fr ds dkj.k 

(D) O;ogkj ds dkj.k 

8. iUrth vkWy bf.M;k jsfM;ks ds fdl dsUnz esa 

izksM~;wlj Fks \ 

(A) vkxjk 

(B) fnYyh 

(C) dydŸkk 

(D) y[kuÅ 

9. deZokP; lajpukvksa dh vf/kdrk gksrh gS % 

(A) ewY;kadu ‘kSyh esa 

(B) fooj.kkRed ‘kSyh esa 

(C) O;k[;kRed ‘kSyh esa 

(D) bueas ls dksbZ ugha 

10. oS;fDrdrk fn[kkbZ nsrh gS % 

(A) O;k[;kRed ‘kSyh eas  

(B) fooj.kkRed ‘kSyh esa  

(C) ewY;kadu ‘kSyh esa  

(D) bueas ls fdlh eas Hkh ugha 
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11. fopkjksa dh iz/kkurk jgrh gS % 

(A) ewY;kadu ‘kSyh esa 

(B) fopkjkRed ‘kSyh esa 

(C) O;k[;kRed ‘kSyh eas 

(D) o.kZukRed ‘kSyh esa 

12. ekuo fodkl funsZ’kkad fodflr fd;k x;k % 

(A) 1980 eas 

(B) 1985 eas 

(C) 1990 eas 

(D) 1992 esa 

13. fodkl dh izfØ;k esa lcls cM+h ck/kk gS % 

(A) lkEiznkf;drk  

(B) /keZ vkSj laLd`fr 

(C) xjhch vkSj csdkjh 

(D) LokLF; ,oa f’k{kk 

14. ^pkfg,* fØ;k dk iz;ksx fdl lajpuk eas gksrk 

gS \ 

(A) fouezrklwpd 

(B) fof/klwpd 

(C) dkycks/k 

(D) vuqØe lajpuk  

15. laKk incU/kksa rFkk fØ;k incU/kksa dk ,d 

fuf’pr Øe gksrk gS % 

(A) LFkkuokpd lajpuk esa 

(B) fn’kkcks/kd lajpuk eas 

(C) dkj.k&dk;Z lEcU/k lajpuk eas 

(D) vuqØe lajpuk esa 

16. ^D;ksafd*] ^ifj.kker%* vkfn ‘kCnksa dk iz;ksx 

-------------- 
lajpuk eas gksrk gSA 

(A) dkj.k&dk;Z lEcU/k 

(B) fof/klwpd 

(C) fu”ks/kkRed  

(D) fouezrklwpd 

17. vof/k ds vk/kkj ij izfronsu ds izdkj gSa % 

(A) fu;fer ,oa lkef;d  

(B) lkewfgd vkSj O;fDrxr 

(C) fuf’pr vkSj eqDr izk:i 

(D) buesa ls dksbZ ugha 

18. vkfFkZd ;kstukvksa dh vlQyrk ds dkj.k gSa % 

(A) lkekftd fodkl esa my>s jguk 

(B) izkd`frd vkinkvksa ls fuiVus ds 

vi;kZIr lk/ku 

(C) tula[;k fu;a=.k esa oSpkfjd erHksn 

(D) ;s lHkh 

19. vkfFkZd dY;k.k dk og Hkkx tks eqnzk }kjk 

ugha ekik tk ldrk % 

(A) vkfFkZd fodkl 

(B) vkfFkZd dY;k.k 

(C) xSj&vkfFkZd dY;k.k 

(D) ewY; o`f) 

20. ßfdrus fnu riL;k dhÞ lajpuk gS % 

(A) dkycks/k 

(B) LFkkucks/k 

(C) fof/k  

(D) vuqØe 
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21. ßxkM+h NwV xbZ vr% eSa u vk ldkAÞ lajpuk 

gS % 

(A) dkycks/k 

(B) fu”ks/kijd 

(C) dkj.k&dk;Z laca/k 

(D) fof/klwpd 

22. izkS|ksfxdh dk iz;ksx fuHkZj gS % 

(A) euq”; ds foosd ij  

(B) euq”; ds deZ ij 

(C) lekt dh ,drk ij 

(D) euq”; dh vko’;drk ij 

23. ekuo vf/kdkjksa dh ckr izLrqr dh xbZ gS % 

(A) 2000 ds izfrosnu esa  

(B) 1975 ds izfrosnu esa 

(C) 2010 ds izfrosnu esa 

(D) 2015 ds izfrosnu esa 

24. bdksra= fdl ckgjh lzksr ls ÅtkZ xzg.k djrk 

gS \ 

(A) pUnzek 

(B) lw;Z 

(C) rkjke.My 

(D) ok;q 

25. ^lqxfU/kr vchj nlksa fn’kkvksa eas mM+ jgk FkkA* 

lajpuk gS % 

(A) LFkkucks/kd 

(B) dkycks/kd 

(C) fn’kkcks/kd 

(D) buesa ls dksbZ ugha 

26. fo’o /kjkry ds lEiw.kZ {ks=Qy ij fdrus 

izfr’kr ty feyrk gS \ 

(A) 50 izfr’kr 

(B) 65 izfr’kr 

(C) 70 izfr’kr 

(D) 80 izfr’kr 

27. tSoe.My dk foLrkj i`Foh dh lrg ls 

fdrus ehVj Å¡pkbZ ij gS \ 

(A) 10]000 ehVj dh Å¡pkbZ 

(B) 5]000 ehVj dh Å¡pkbZ 

(C) 8]000 ehVj dh Å¡pkbZ 

(D) 12]000 ehVj dh Å¡pkbZ 

28. bdksra= dks ;fn lw;Z ls ÅtkZ u feys rks D;k 

gksxk \ 

(A) i`Foh ij ty lekIr gks tk;sxk 

(B) i`Foh ij thou lekIr gks tk;sxk 

(C) i;kZoj.kh; iznw”k.k QSy tk;sxk 

(D) buesa ls dksbZ ugha 

29. /kkj.kh; fodkl ds mís’; gSa % 

(A) ,d ,slh O;oLFkk tks yphyh gks vkSj 

Lor% lq/kkj dh {kerkA 

(B) ,d ,slh rduhdh O;oLFkk tks fur u;s 

lek/kku ryk’k ldsA  

(C) ,d ,slh lkekftd O;oLFkk tks fodkl 

ls mRiUu ruko dk lek/kku djrh gksA 

(D) mi;qZDr lHkh 
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30. dk;kZy;ksa esa lwpuk vkSj vkns’kksa dks ftl i= 

ds ek/;e ls izlkfjr fd;k tkrk gS] mls 

dgrs gSa % 

(A) dk;kZy;hu vkns’k 

(B) ifji= 

(C) vf/klwpuk 

(D) Kkiu 

31. izeq[k :i ls dk;kZy;hu i=ksa ds :i gSa % 

(A) 5 

(B) 4 

(C) 7 

(D) 6 

32. v/khuLFk dk;kZy;ksa dks Hksts tkus okys vkns’k ;k 

lwpuk,¡ fdl i= ds ek/;e ls nh tkrh gSa \ 

(A) vf/klwpuk 

(B) ifji= 

(C) vuqLekjd 

(D) dk;kZy; vkns’k 

33. Lej.k djkus okys i=ksa dks dgrs gSa % 

(A) ifji= 

(B) i`”Bkadu 

(C) vuqLekjd 

(D) vf/klwpuk 

34. jktdkt fo”k;d lwpukvksa dks dgk tkrk gS % 

(A) izfrosnu 

(B) vf/klwpuk 

(C) vuqLekjd 

(D) ifji= 

35. izk:i.k dk i;kZ;okph ‘kCn gS % 

(A) elkSnk 

(B) :ijs[kk 

(C) izk:i 

(D) vkys[ku 

36. vf/klwpuk fdlds uke ls izdkf’kr gksrh gS \ 

(A) eq[;ea=h 

(B) jkT;iky 

(C) eq[; lfpo 

(D) ftyk/kh’k  

37. tc ewy i=] i= ds izs”kd ds ikl ykSVk;k 

tk jgk gks] rks mls dgrs gSa % 

(A) ifji= 

(B) vkys[ku 

(C) i`”Bkadu 

(D) Kkiu 

38. v)Z&fodflr jk”Vªksa esa csjkstxkjh fdu :iksa esa 

ikbZ tkrh gS \ 

(A) ,sfPNd csjkstxkjh 

(B) ?k”kZ.kkRed csjkstxkjh 

(C) <k¡pkxr csjkstxkjh 

(D) mi;qZDr lHkh 

39. ^jkstxkj xkj.Vh ;kstuk* dk izkjEHk egkjk”Vª 

ljdkj }kjk fd;k x;k % 

(A) 1972&73 eas 

(B) 1965&66 esa 

(C) 1980&81 esa 

(D) 1990&91 eas 
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40. uxjhdj.k fodkl esa ;ksxnku gS % 

(A) f’k{kk ds lk/ku dk 

(B) euksjatu ds lk/ku dk 

(C) vkS|ksxhdj.k dk 

(D) buesa ls dksbZ ugha  

41. vuqokn fdrus :ikas eas fd;k tk ldrk gS \ 

(A) 2 

(B) 4 

(C) 3 

(D) 5 

42. i`”Bkadu dks vaxzsth esa D;k dgrs gSa \ 

(A) baMkslZesaV 

(B) ldZqyj 

(C) eseksjs.Me 

(D) buesa ls dksbZ ugha 

43. lzksr Hkk”kk dgrs gSa % 

(A) vFkZ O;Dr djus okyh Hkk”kk 

(B) lkfgR; ls iwoZ dh Hkk”kk 

(C) dfFkr Hkk”kk dk nwljh Hkk”kk esa vuqokn 

(D) ‘kSfy;ksa ls iw.kZ Hkk”kk 

44. fLFkfrt vkSj xfrt ÅtkZ ds ;ksx dks dgrs gSa % 

(A) jklk;fud ÅtkZ 

(B) fo|qr ÅtkZ 

(C) izdk’k ÅtkZ 

(D) ;kaf=d ÅtkZ 

45. fLFkfrt ÅtkZ dgrs gSa % 

(A) rjd’k ls fudys rhj esa  

(B) cgrs gq, ikuh esa  

(C) Å¡pkbZ ij j[ks iRFkj esa mldh fLFkfr 

ds dkj.k 

(D) cUnwd ls fudyh xksyh esa  

46. fu;fer izfrosnu fdl izdkj dk izfrosnu gS \ 

(A) la[;k ds vk/kkj ij  

(B) vof/k ds vk/kkj ij 

(C) izk:i ds vk/kkj ij 

(D) O;fDr] oLrq ,oa ?kVuk ds vk/kkj ij 

47. ^vksisd* fdUgsa dgk tkrk gS \ 

(A) Hkkjrh; ns’k 

(B) isVªksfy;e mRiknd ns’k 

(C) fo’o  

(D) ÅtkZ fuekZrk ns’k  

48. ck;ksxSl] lkSj ÅtkZ] iou ÅtkZ] ÅtkZ ds 

dkSu&ls lzksr gSa \ 

(A) izkd`frd ÅtkZ 

(B) xSj&ikjEifjd ÅtkZ 

(C) ekuo ÅtkZ 

(D) ifj”d`r ÅtkZ 

49. ßlkaLd`frd lsrqÞ dh laKk nh xbZ gS % 

(A) Hkk”kk ifjorZu dks  

(B) :ikUrj.k dks  

(C) vuqokn dks  

(D) izfrfyfi dks  

50. lk/kkj.kr% blesa Hkwrdky ds fØ;k:iksa dk 

iz;ksx fd;k tkrk gS % 

(A) fopkjkRed ‘kSyh 

(B) fooj.kkRed ‘kSyh 

(C) ewY;kadu ‘kSyh 

(D) O;k[;kRed ‘kSyh 

 



  

8. iz’u&iqfLrdk rFkk mŸkj&i=d esa fufnZ”V LFkkuksa ij izfof”V;k¡ Hkjus ds vfrfjDr dgha Hkh dqN u fy[ksa] 

vU;Fkk mŸkj&i=d dk ewY;kadu ugha fd;k tk,xkA 

9. ijh{kk lekfIr ds mijkUr dsoy vks- ,e- vkj- mŸkj&i=d oh{kd dks lkSaiuh gSA 

10. ijh{kk&d{k ds vanj lsy Qksu] dSYdqysVj] iqLrdsa] LykbM :y] uksVcqd ;k fyf[kr uksV bR;kfn ykus dh 

vuqefr ugha gSA 

11. ijh{kk&LFky ij vkidks dsUnz v/kh{kd vkSj oh{kd }kjk fn, x, funsZ’kksa dk ikyu djuk gSA ;fn vki 

muds funsZ’kksa dk mYya?ku djsaxs] rks vkidks v;ksX; ?kksf”kr dj fn;k tk,xkA 

12. ijh{kk esa ;fn dksbZ ijh{kkFkhZ udy djrs] lgk;rk nsrs ;k izkIr djus gq, ik;k x;k] rks vuqfpr lk/ku 

(UFM) dk izdj.k cuk dj dk;Zokgh dh tk;sxhA 

13. vkidks fujh{kdksa }kjk iz’u&iqfLrdk vkSj mŸkj&i=d fn, tk,axsA ijh{kk lekIr gksus ij ijh{kk&d{k NksM+us 

ls igys vkidks mŸkj&i=d oh{kd dks lkSai nsuk gSA tks ijh{kkFkhZ vius mŸkj&i=d dks ugha ykSVk,xk mls 

v;ksX; ?kksf”kr dj fn;k tk,xk vkSj fo’ofo|ky; mlds fo#) vkxs dk;Zokgh djsxkA 

14. fo’ofo|ky; fdlh ,sls ijh{kkFkhZ ds izkIrkad dks fujLr djus dk vf/kdkjh gS tks N  :i /kkj.k djrk gS 

;k dksbZ nqjkpkj viukrk gS ;k iz;ksx djrk gS ;k fdlh vuqfpr lk/ku dk iz;ksx djrk gSA ijh{kk ,d 

leku fLFkfr;ksa ds v/khu lapkfyr dh tk jgh gSA fo’ofo|ky; lHkh ijh{kkfFkZ;ksa ds izkIrkadksa dh ekU;rk 

gsrq ,d leku :i ls tk¡pus dh fØ;kfof/k viuk,xkA ;fn i;kZIr ladsr gS fd vkidk fu”iknu vlyh 

ugha gS] rks fo’ofo|ky; vkids izkIrkad dks fujLr dj ldrk gSA 

 

 

 

 

 

 

 

 

 

       



   ¼vU; funsZ’k vfUre i”̀B ij ns[ksa½ 

       mŸkj&i=d dk Øekad 

 

 

iz’u&iqfLrdk esa i`”Bksa dh la[;k % 8 iz’u&iqfLrdk esa iz’uksa dh la[;k % 50 

ch- ,-@ch- ,l&lh-@ch- dkWe- ¼ikVZ III½  

la=kr ijh{kk] tuojh&fnlEcj] 2020 

(Foundation Course) 

f}rh; iz’ui= 

English Language 

le; % 2 ?k.Vk 15 feuV ] [ iw.kk±d % 50 

    [ U;wure mŸkh.kk±d % 17 

ijh{kkfFkZ;ksa ds fy, funsZ’k 

1. iz’u&iqfLrdk feyrs gh eq[k i`”B ,oa vafre i`”B esa fn, x, funsZ’kksa dks vPNh rjg i<+ ysaA 

2. Åij fn, gq, fu/kkZfjr LFkkuksa esa viuk mŸkj&i=d dk Øekad fyf[k,A 

3. lqfuf’pr dj ysa fd iz’u&iqfLrdk esa dqy i`”B Åij fy[ks vuqlkj fn, gq, gSa rFkk mlesa lHkh 50 iz’uksa 

dk eqnz.k lgh gSA fdlh Hkh izdkj dh =qfV gksus ij 15 feuV ds vanj oh{kd dks lwfpr dj lgh 

iz’u&iqfLrdk izkIr dhft,A 

4. izR;sd iz’u gsrq iz’u&iqfLrdk esa iz’u ds uhps fn, x, pkj fodYiksa (A, B, C, D) esa ls lgh mŸkj dk 

p;u dj mŸkj&i=d esa lgh xksys dks dkys ;k uhys ckWy&Iokb.V isu ls Hkfj,A 

5. iz’u&iqfLrdk esa 50 oLrqfu”B iz’u fn, x, gSaA izR;sd lgh mŸkj gsrq 1 vad vkcafVr fd;k x;k gSA 

_.kkRed ewY;kadu ugha gSA 

6. vks- ,e- vkj mŸkj&i=d esa leLr izfof”V;k¡ fn, x, funsZ’kkuqlkj dhft,] vU;Fkk mŸkj&i=d dk 

ewY;kadu ugha fd;k tk,xkA 

7. lgh mŸkj okys xksys dks vPNh rjg ls dkyk@uhyk MkWV isu ls xk<+k dj nsa] vU;Fkk mŸkj dk ewY;kadu 

ugha gksxkA bldh leLr ftEesnkjh ijh{kkFkhZ dh gksxhA 

fo”k; 
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1. Who belonged to Romantic age ? 

(A) Pope 

(B) Tennyson 

(C) Wordsworth 

(D) Matthew Arnold 

2. Who are the Lake Poets ? 

(A) Keats, Byron, Shelley 

(B) Shelley, Keats, Blake 

(C) Wordsworth, Coleridge, Southey 

(D) Gray, Collins, Blake 

3. “Three Years She Grew” is made up of : 

(A) Four stanzas 

(B) Six stanzas 

(C) Eight stanzas 

(D) Seven stanzas 

4. The rhyme scheme of “Three Years She 

Grew” is : 

(A) aabccb 

(B) ababab 

(C) abcabc 

(D) abcdab 

5. “Three Years She Grew” is : 

(A) An Ode 

(B) An Elegy 

(C) A Sonnet 

(D) A Lyric 

6. “Three Years She Grew” is related to : 

(A) Wordsworth and Nature 

(B) Lucy and Township 

(C) Lucy and Hills 

(D) Lucy and Nature 

7. Lucy died when she : 

(A) was a child 

(B) reached maturity 

(C) became sick 

(D) became old 

8. This is .......... orange. 

(A) the 

(B) a 

(C) an 

(D) None of the above 

9. This is ........ book. 

(A) an 

(B) the 

(C) a 

(D) None of the above 

10. I can‟t find my mobile phone ............. . 

(A) anybody 

(B) somewhere 

(C) nowhere 

(D) anywhere  

11. There isn‟t ............... money in my bag. 

(A) any  

(B) some  

(C) more 

(D) many 

12. I need a car and ............ dollars. 

(A) much 

(B) some 

(C) any 

(D) more 
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13. A rubber is .......... in that drawer. 

(A) anywhere 

(B) nowhere 

(C) somewhere 

(D) something 

14. The Mouse and the Snake is from 

............. . 

(A) Beastly Tales from Here and There 

(B) Stories of Rabindranath Tagore 

(C) Stories of Somerset Maughm  

(D) Stories of Anton Chekhov 

15. The sound produced by a snake is : 

(A) bray 

(B) hiss 

(C) scram 

(D) chatter 

16. I have a pond with frogs at home at night 

I can hear them ........... . 

(A) howl 

(B) gobble 

(C) croak 

(D) chirp 

17. To celebrate the happy event, all the 

Church bells began to ........... . 

(A) rustle 

(B) crack 

(C) hum 

(D) jingle 

18. Be careful. The ice is very thin and I 

think I heard it ........... . 

(A) crash 

(B) peal 

(C) crack 

(D) Pop 

19. I know a woman ........... eats boiled 

vegetables. 

(A) who 

(B) whom 

(C) whose  

(D) which 

20. India is also at the threshold of rebuilding 

her ......... . 

(A) Political Power 

(B) Economy 

(C) Military Power 

(D) Social Power 

21. To deal with this crisis the government 

announced .......... . 

(A) Non-alignment policy 

(B) Food policy 

(C) New economic policy 

(D) New foreign policy 

22. Basic needs are often understood  

as ........... . 

(A) Car, Fridge, Air conditioner 

(B) Nutrition, Shelter, Clothing 

(C) Table, Chair, Almirah 

(D) Education, High society, Foreign 

tour 
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23. Culture enables human kind to ............ . 

(A) Go away from new patterns of life 

(B) Withdraw from old patterns of life 

(C) Adapt, to innovate and to evolve 

new patterns of life  

(D) None of the above 

24. The writer of „Basic Needs and Quality 

of Life‟ is : 

(A) S. C. Dube 

(B) Anton Chekhov 

(C) Sister Nivedita 

(D) R. S. Tiwari 

25. What was the economic policy of India 

till 1991 ? 

(A) Open economic policy 

(B) Mixed economic policy 

(C) Highly controlled, centralised and 

closed economy 

(D) Decentralised  economic policy 

26. The list of industries reserved for public 

sector under new policy were : 

(A) Privatised 

(B) Globalised 

(C) Drastically curtailed 

(D) None of the above 

27. New Economic Policy has the following 

segments : 

(A) Liberalistion 

(B) Privatisation 

(C) Globalisation 

(D) All of the above 

28. Hugh had a red car ............ ? 

(A) didn‟t he 

(B) havent‟ he 

(C) wouldn‟t he 

(D) hadn‟t he 

29. We don‟t watch much TV ......... ? 

(A) did we 

(B) are we 

(C) have wer 

(D) de we 

30. We live in a tiny flat ........... ? 

(A) don‟t we 

(B) do we 

(C) aren‟t we 

(D) didn‟t we 

31. The Allies tried to buttress the 

dilapidated status quo of international 

economic order by creating ......... . 

(A) World Health Organisation 

(B) International Monetary Fund 

(C) U. N. O. 

(D) U. N. Security Council 

32. Vikramaditya was the king of ........ . 

(A) Bundelkhand 

(B) Baghelkhand 

(C) Malwa 

(D) Ruhelkhand 
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33. The people of Malwa .......... 

Vikramaditya. 

(A) hated 

(B) worshipped 

(C) loved 

(D) looked down at 

34. It is told that Vikramaditya was the 

greatest .......... in the history. 

(A) King 

(B) Judge 

(C) Leader 

(D) General 

35. Dusk is related to : 

(A) Morning 

(B) Noon 

(C) Afternoon 

(D) Evening 

36. The young one of the goat is  

called ............ . 

(A) Cub 

(B) Kid 

(C) Lamb 

(D) Fawn 

37. The young one of cat is called .......... . 

(A) Puppy 

(B) Calf 

(C) Kitten 

(D) Colt 

38. Awful means : 

(A) Terrible 

(B) Modern 

(C) Favourable 

(D) Humourus 

39. Calm means : 

(A) Peaceful 

(B) Tranquil 

(C) Perilous 

(D) Terrible 

40. The .............. of the President was 

announced on th radio (dead). 

(A) Dead 

(B) Deadly 

(C) Death 

(D) Died 

41. She felt great ......... at being treated so 

badly (anger). 

(A) Anger 

(B) Angerily 

(C) Angrily 

(D) None of the above 

42. Have you .......... (carry out) my 

instructions ? 

(A) carrying out 

(B) carried out 

(C) will carry out 

(D) None of the above 
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43. I ........... (wait) since morning. 

(A) have been waiting 

(B) have waited 

(C) waited 

(D) am waiting 

44. Singapore had aimed to become an 

........... at the year 2000. 

(A) Intelligent Country 

(B) Intelligent Nation 

(C) Intelligent Island 

(D) Intelligent Territory 

45. IT communication has changed the world 

into .......... . 

(A) Global Village 

(B) Separated Countries 

(C) Quarrelling Countries 

(D) None of the above 

46. Form noun from the verb „arrive‟ : 

(A) Arrived 

(B) Arriving 

(C) Arrival 

(D) None of the above 

 

 

 

 

 

 

 

47. Do you know what caused his ......... 

(Dismiss). 

(A) Dismissed 

(B) Dismissal 

(C) Dismissing 

(D) None of the above  

48. I would rather have coffee ........ tea. 

(A) in stead of  

(B) in place of  

(C) in spite of 

(D) in case of 

49. When was Ashok Mehta Committee 

appointed ? 

(A) 1975 

(B) 1976 

(C) 1977 

(D) 1978 

50. Chervyakove ............. over General 

Brizalov. 

(A) Spat 

(B) Sneezed 

(C) Vomitted 

(D) None of the above 

 

 

 

 

 

 

 



  

8. iz’u&iqfLrdk rFkk mŸkj&i=d esa fufnZ”V LFkkuksa ij izfof”V;k¡ Hkjus ds vfrfjDr dgha Hkh dqN u fy[ksa] 

vU;Fkk mŸkj&i=d dk ewY;kadu ugha fd;k tk,xkA 

9. ijh{kk lekfIr ds mijkUr dsoy vks- ,e- vkj- mŸkj&i=d oh{kd dks lkSaiuh gSA 

10. ijh{kk&d{k ds vanj lsy Qksu] dSYdqysVj] iqLrdsa] LykbM :y] uksVcqd ;k fyf[kr uksV bR;kfn ykus dh 

vuqefr ugha gSA 

11. ijh{kk&LFky ij vkidks dsUnz v/kh{kd vkSj oh{kd }kjk fn, x, funsZ’kksa dk ikyu djuk gSA ;fn vki 

muds funsZ’kksa dk mYya?ku djsaxs] rks vkidks v;ksX; ?kksf”kr dj fn;k tk,xkA 

12. ijh{kk esa ;fn dksbZ ijh{kkFkhZ udy djrs] lgk;rk nsrs ;k izkIr djus gq, ik;k x;k] rks vuqfpr lk/ku 

(UFM) dk izdj.k cuk dj dk;Zokgh dh tk;sxhA 

13. vkidks fujh{kdksa }kjk iz’u&iqfLrdk vkSj mŸkj&i=d fn, tk,axsA ijh{kk lekIr gksus ij ijh{kk&d{k NksM+us 

ls igys vkidks mŸkj&i=d oh{kd dks lkSai nsuk gSA tks ijh{kkFkhZ vius mŸkj&i=d dks ugha ykSVk,xk mls 

v;ksX; ?kksf”kr dj fn;k tk,xk vkSj fo’ofo|ky; mlds fo#) vkxs dk;Zokgh djsxkA 

14. fo’ofo|ky; fdlh ,sls ijh{kkFkhZ ds izkIrkad dks fujLr djus dk vf/kdkjh gS tks N  :i /kkj.k djrk gS 

;k dksbZ nqjkpkj viukrk gS ;k iz;ksx djrk gS ;k fdlh vuqfpr lk/ku dk iz;ksx djrk gSA ijh{kk ,d 

leku fLFkfr;ksa ds v/khu lapkfyr dh tk jgh gSA fo’ofo|ky; lHkh ijh{kkfFkZ;ksa ds izkIrkadksa dh ekU;rk 

gsrq ,d leku :i ls tk¡pus dh fØ;kfof/k viuk,xkA ;fn i;kZIr ladsr gS fd vkidk fu”iknu vlyh 

ugha gS] rks fo’ofo|ky; vkids izkIrkad dks fujLr dj ldrk gSA 

 

 

 

 

 

 

 

 

 

     




